-p poco cresc.
'p poco cresc.

[ \&

33

7

[ \#

0

poco cres

rp

[ £anY

N~

PP poco cresc.

[ N\#

D)

A
)1p
7.8

vn |

vn II

vC

vn 11

sub. P
sub. P

sub. P

L. =D

.P_

»

[7K0

v

A

hall CHN/J
[ £anY

V

N
A
hall CHNYJ

ve
vn I

vn I
ve



34

4y
sy ol
.c.ll. A N
TN
HEL )
alll A 3 e
[P
| Y L)
mlll Ay TN
I
1 R\
N
\ A T,
TN
uﬁw
BEA ) BEL))
5 ) .
S A m 5 Mo | 8
S 5 g S
~
Q
111 w A
] A
F N ™ - K
TTe QL |
™ b
[P
Yo | ||
A A | T
~
..Hllnv e N o”hV
iy
,
unmwd Amwd &
= = °
= g

116

10

V
[ £anY
A1V

sub. pp

sub. pp

hall CHN/J

A

2
-

123

vn 11

vC

A~ T1
| A ]
TN ™ KJ
oL ||
TN Ay O]
=
%
\ IS TN
| YHER A~
1l
Ol TTT%
TN A
TTT®
u..ﬂ.w
|10 TT1
N e ﬁ ™ pﬁ
TN 177 ]
! A=
e N
1 1T - ]
III" e
] M ]
TTe A~
iy uy
A~
N N I.mw.r, . wh
Ny
,
Am Amw\v eman n.
— = < o
g s = >
> >




35

—Je 1D

)

vn |

vC

o

o~

10

V
[ £anY

o im

dim.

dur. 7'

=

hall CHN/J

A

vn 11

vC

dim.



36

1V rondo

Molto allegro, vivace

G
\
_ \
\
A
N
1
— I /v
— v
N
|
s
kG Y
e S

]

V

[ an)

[ £ Y

A

Y

A
el O
Z

Vnl

Vnll

mf;—/

Vla
Vc
Vnl
Vnll
Vla

Vc



37

17 Tustico

e T 7%

B e TH>
) i)
™ '

N caa O
T
oA TIT$A TTTeA

ORI RN ORI

e T e
) i) )
+

B Il TH
) i) )
r+ » N

T e Js

e T T

I [

™

Y
V
[ Man)

A

rustico

R ¢

rustico

A
o)
Z

Vnll

Vla

Vc

R Y OYS el
N s [}
N i L 1EES | 1IN
L 1EEN | I N o
KN —
— LN —
{ YEES T N N
« HH T
q N s L}
] i L EEN | 1EE
L 1REN | I AL o
KN —
’ KN —a
{ 1EES T N N
9 o T Il
SR ] R
T e TTT% T
) A
SEEN L HW Hh 1
SEEN e Hh 1
) A
SEEN L HW 1 1
s I CHIA S 7 I “
— = <
= g > S

10

-0

WA

V
N
SV

-

|
|2
—

-

I
10

A

o)
V.4

Vnl

Vnll

Ve



38

N
—1 LN
1 TN | YR | YHER
| YN 1% 111 | ]|
. N . -
. N KN | N —~N
Q! Ty TN N
. N (e 1™ 4™
o | e e
\ |
— I —
{ || TN | YR | 1EEE
Q] e {11 N
. N N —
. N KN | N —~N
Q! Ty TN N
N (e 4N 4
o | A ARE
A i i il
; L
il il Y AT
4 (- N 4
xom X P G
— = © o
= S > >

Do

oJ f cresc.

[ o

VS
[ £anY

mf cresc.

mf cresc.

A

)
7

Vnll

Vla

Ve

)
T8
N
1R
b BEA
. N
&Y \ TR
H — ™
[ T
r\
1S (i
4 Q TT®
N
. ]
alll T b A
BEE.)
L TN
A
oLl b T
T
N
) e
. Llen
QL TTeA
L) TN
A
TN
LN
ol A
£ E = 2



